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Instructions for Candidates :

1. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on Side-1 and
Side-2 carefully with Black/Blue Ballpoint Pen gnlyv

. The test is of 2% hour duration and consists of
150 questions. There is no negative marking. N

. Use Black/Blue Ballpoint Pen only for wrmung
particulars on this page/marking responses in the
Answer Sheet.

. The CODE for this Booklet is M. Malke sure that the
CODE printed on Side-2 of the Answer Sheet is the same
as that on this Bpoklet. Also ensure that your Test
Booklet No. and Answer Sheet No. are the same. In case
of discrepancy, the candidate should immediately report
the matter to the Invigilator for replacement of both the
Test Booklet and the Answer Sheet.

This Test Booklet has Five Parts—I, II, III, IV and V,
consisting of 150 Objective Type Questions and each
carrying 1 mark :

Part-] :Child Development and Pedagogy (Q. Nos. 1-30)
Part-1I : Mathematics and Science (Q. Nos. 31-90)
Part-I1I: Social Studies/Social Science (Q. Nos. 31-90)
Part-1V: Language-1 (English/Hindi) (Q. Nos. 91-120)
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6. Candidates have to do Question Nos. 31 to 90 EITHER
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PART—I / wwi—I
CHILD DEVELOPMENT AND PEDAGOGY / Tl faeh® 3R Torgm -9

Directions : Answer the following questions

by selecting the co
. rrect/most a
options. ppropriate

1. \h{hich one of the following is a géod
example of ‘§caffolding’ (learning of a
problem-sol_vmg task till the student is
able to do it by herself)?

(1)

Offering a reward for solving the
problem quickly

(2) Tel.ling her that she can do it by
trying again and again

(3)

(4)

Providing a half-solved example

Telling her she cannot go home till
she solves the problem

2. Your_class has learners with different
learning styles. To assess them, you
would give them

(1) a uniform set of instructions and
subsequently label the children
according to their marks in the test

(2) the same set of tasks and tests
(3) a variety of tasks and tests

(4) the same time to perform/ on the
tests .

3. Nowadays, there is a tendency to refer
to ‘wrong concepts’ of children as
‘alternative conceptions’. This could be

attributed to
(1) children’s understanding being

nuanced and their being passive in
their own learning

recognition that children are
capable of thinking and their
thinking is different from that of

adults

using fancy terms
children’s errors

(2)

to describe

children being thought of as

adult-like in their thinking

P-1I/M
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4. Which one of the following best
describens o teacher's role in a middle
school classroom?

(1) Discouraging multiple perspectives
and focusing on uni-dimensional
perspective

(2) Uming PowerPoint preésentations to
pive lectures

(3) Providing
discussions

opportunitics for

(4) Promoting students to compete
amongst themselves for the first
position

5. Which one of the following statements
about motivation and learning is
correct?

(1) Motivation does not have any role
to play in learning.

(2) Learning is effective only when
the students are motivated using
external rewards.

(3) Learning is effective only when
the students have intrinsic

motivation—a desire to learn from
inside.

(4) Learning is effective only when
the students are extrinsically

motivated—motivated by external
factors.

6. Which one of the following statements
about learning is correct?

(I) Learning is a passive receptive
process.

(2) Learning does not depend on
learner’s previous knowledge.

(3) Learning is equivalent to
acquisition of skills.

(4) Learning is facilitated by social
actions.

7. Which one of the following is an

important activity to enable children to
learn?

(1) Reward
(2) Dialogue
(3) Lecture
(4) Instruction

P-II/M
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8. Which one of the following statements
about development is correct?

(1) Development proceeds from birth
to adolescence in a forward manner
and then it goes backwards.

(2) Developmental changes go forward
In a straight line.

(3) Development occurs at a different
rate among different individuals.

(4) Development occurs at a very fast
pace from birth till adolescence and
then it stops.

9. Middle childhood is the period from
(1) 10 years onwards
(2) birth to 2 years
(3) 2 years to 6 years
(4) 6 years to 11 years

10. “Envi.ronmental factors do not play any
role in shaping an individual, since
growth of each individual is determined
py his genetic makeup.” This statement
is

(1) incorrect, since there have been
several researches to prove that
environment can have a major
influence on development

(2) correct, since genetic makeup of an
individual is very strong

(3) correct, since there have been
several researches to prove . that
genetic material alone predicts an
individual’s development

(4) incorrect, since environmental
factors contribute little in an
individual’s growth and
development

11. is a process through which a

human infant begins to acquire the
necessary skills to perfornm as a
functioning member of the society.

(1) Development
(2) Socialization
(3) Learning

(4) Maturation

P-II/M
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12. According to Piaget, which one of the
following factors plays an important
role in influencing development?

(1) Reinforcement
(2) Language
(3) Experience with the physical world

(4) Imitation

13. The cognitive ability that comes in
pre-operational period is

(1) hypothetico-deductive thinking
(2) ability for abstract thinking
(3) ability of goal-directed behaviour

(4) ability to take other’s perspective

14. Which one of the following is a correctly
matched pair?

(1) Social contract orientation—
Physical consequences of an action
determine whether it is good or bad

(2) Punishment and obedience
orientation—Laws are not fixed,
but can be changed for the good of

society

(3) Good boy and good girl
orientation—One earns approval by
being nice

(4) Law and order orientation—Ethical
principles are self-chosen on the
basis of the value of human rights

15. The concept of ‘private speech’ of
children as proposed by Vygotsky

(1) shows that children are stupid and
thus need guidance of adults

(2) illustrates that children are
egocentric

(3) shows that children love
themselves

(4) illustrates that children use speech

to guide their own actions

P-II/M
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16.

17,

18.

19.

20.

According to Vygotsky, learning cannot
be separated from

(1)

perception
processes

(2) its social context
(3) reinforcement

(4) a measurable change in behaviour

and attentional

Progressive education entails that the
classroom is

(1) in full control of the teacher, who is
dictatorial

(2) democratic and there is space given

to children for understanding

authoritarian, where the teacher

dictates and the students follow
meekly

free for all with the teacher absent
from it

(3)
(4)

Which one of the following illustrates a
person with linguistic intelligence?

(1) The ability to handle long chains of
reasoning
(2)

Sensitivity to the meaning and
order of words and the varied uses
of language

Sensitivity to pitch, melodys and
tone :

(4) The ability to notice and make
distinctions among others

(3)

Language _____ thought processes.
(1) cannot determine the

(2) does not influence the

(3) totally governs our

(4) has an influence on our

A textbook of Class VIII has following
illustrations—women as teachers and
maids while men as doctors and pilots.
This type of depiction is likely to
promote

(1) gender empowerment
(2) gender stereotyping
(3) gender role play

(4) gender constancy
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21. There are vast differences among th
e

22.

23.

(4) ridicule

students. Of these
a
be sensitive to teacher needs to

I. differences ba
T1C sed on cogniti
capabilities and learning levegII:;ltlve

II. differences based on diversity of

language
, caste en .
community » genaer, religion,

Select the correct
ans
code given below. wer using the

(1) Neither I nor II
(2) Only I
(3) Only 1II

(4) Both I and II

Assessment by only paper-pencil tests
(1) promotes holistic assessment
(2) limits assessment

(3) facilitates comprehensive
evaluation

(4) facilitates continuous evaluation

A teacher has a ‘hearing impaired’ child
in her middle school class. It is

important for her to

1) ask the school counsellor to talk to
the child’s parents and tell them to
withdraw their child from school

t at a place from
the teacher’s lips
learly

(2) make the child si
where she can se€
and facial expressions ¢

inting to what the child

(3) keep po :
o over and over again

cannot d

the child and make her sit
separately SO that she joi'ns an
institution for hearing impaired

P-II/M
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(1) wga &fka 81 &, Af wh gfe-af
A Bl B
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(2) are very wise and mature (2) 553 FRerm ol witm A &

(3) cannot learn anything (3) T Hft 7 diw w=a

(4) struggle with some aspeects, of (4) =1ftrmm % TS 9 ¥ v Y 2
learning .

26. Teachers can encourage children to 26. e =it = oo foeml % fe T

think creatively by X Hehl §
(1) giving them multiple-choice (1) 3= g - ey e
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27. Which one of the following
philosophical perspectives needs to be
followed to deal with children with

special needs?

(1) They have a right to inclusi've
education and study in regular
schools.

They do not need any education
at all.

They should be segregated and put
in separate educational institutions.

)

(3)

They should be given only

4
vocational training.

28. Learner-centred approach means

(1)

use of methods in which teacher is
the main actor

(2) methods where learners’ own
initiative and efforts are involved in
learning

that teachers draw conclusions for
the learners

(3)

(4) traditional expository methods

29, Which one of the following is central to
learning?

(1) Imitation
(2) Meaning-making
(3) Conditioning

(4) Rote memorization

30. In a constructivist classroom as
envisioned by Piaget and Vygotsky,
learning _
(1) is offering of reinforcement by the

teacher

(2) is constructed by the students
themselves who play an active role

(3) is dictated by the teacher and the
students are passive recipients of
the same

(4) happens by pairing of a stimulus
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IMPORTANT

(Mathematics and Science) Or
Part—III (Social Studies / Social Science).

Candidates have_ to do
Question Nos. 31 to 90 Either from Part—II
from

T QeI Y ¥e G 31 § 90 A 7
a—1 (T 3R oM)W 9E—II (ST

s [ wrfes fEE) § F9 2

PART—II / 9mi—II
MATHEMATICS AND SCIENCE / Tifora 3t fagm

Directions : Answer the following questions

by selecting the correct/most appropriate
Options,

31. “Two complementary angles are in the
ratio 2 : 3. Find these angles.”

The above problem from NCERT
textbook of Class VII refers to

(1) higher order thinking as it
de;nand.s construction of a figure
using given information

(2) lower order thinking as it is based

on recalling information

(3) lower order thinking as it is based

on using the information = in

concrete situation

higher order thinking as it
demands the interpretation of given
information, its analysis and use in
getting the desired information

(4)

“Prove that there is no rational

number whose square is 2.7
This type of proof is

32.

(1) proof by contraposition
(2) direct proof
(3) proof by contradiction

(4) proof by counter-example

. fPrefife s F 3w A & gl /ww@
Iagw faed g

31. ‘A T FW 2:3 % gy ¥ T IR I
$ifsm)”’
F VI H wo o o Mo FHo M
TIGE - & IRIF 599 6 gad 8 5 7%

(1) =R AR 1 fem }, ®ife = s

wa g % & g st & T B = A
S1L

(2) = a0t w1 fomm R, wife o8 BRO A
R eyl 3 ’

(3) Fr=r Al 1 fomr ®, Fifh @ STHHRI
Teger e & Iuam s W e ®

(4) =@ ARt w1 REm R, FifF 97 oW
X ¢ 6 & g8 SR <l s 4 i,
RIS L I R L < ol o B
aTfesa S ST <l SMe

32. T I 6 Y A o i dem e g,

e i 2317

T YR H Iqufy R

(1) whafeufa gra saufy

(2) v Iqufy

(3) TR g1 sumfy

(4) IR TR YUY
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33.

35.

Consider the following statement :

“If the diagonals of a quadrilateral
bisect each other, then the
quadrilateral is a parallelogram.”

This statement is a/an
(1) definition

@) the.orem

(3) axiom

(4) proposition

. Representation’ in Mathematics does

not refer to
(1) expressing the number sequence
through geometrical patterns

(2)

expressing the relation between two
variables as an equation

(3) expressing an important geometrical
result as a theorem

(4)

expressing the given data through
graphs

In NCERT exemplar book for Class VIII
at the end of Unit 5§, ‘Understanding
quadrilaterals and practical geometry’,
lots of activities like constraeting
tessellation, constructing tangrams,

etc., are given. One of the objectives of
such tasks is to help

(1) all learners with different learning

styles and’ to enhance spatial
orientation

(2) visual learners only to improve
their analytical skills

(3) kinesthetic learners only to
improve their visual thinking skills

(4) auditory learners only to improve
their creative skills

33.

35.

e w9 w faem A

“aft w e ¥ Fred weR B e
FQ 2, T IS & gia-wgds wem”
I® FUA B '

(1) aRvm
(2) Ty
(3) g

(4) |reR

it # “yeei’ IgE e T R

(1) & Aofi ) s v § =3 w0

(2) A =0 % weg gey H Tl § S HE
(3) %ﬂﬁ@w@?ﬁumﬁmﬁm

(4) Teu o el i Ter@ T SHH BT

Fgl VI i o Hio So Mo Fo TEFIFIRR
TEF (9 WeRE) § Sdf 3FE agst @
gl 3R W % 3 § 9gd W
e SR s e =, HH e R
To] BeATTS (9T §C B | 36 TR F FE 5 Il
% Y TeH ST WEEan F ¢

(1) ash fenfiat | ol e it
a1y T fRfy gama §

(2 A TR W, Faa A
IELRENIREES

a»—ena%gwrﬁﬁ

(3) nftst T fentdal =, Faw wﬁ ol
ﬁwmﬁg‘mmﬁ

(@) Aarm foeriiat o, Faw FF TS
FHeAt Bl gURA |
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36. Which one of the following statemenfcs

is mnot true about projects i

Mathematics?

(1) They make scoring easy in
Mathematics.

(2) They promote inquiry skills.

(3) They enhance problem-solving
skills.

(4) They establish interdisciplinary
linkages.

Which one of the following activities
is mnot appropriate for ‘data represen-
tation and data interpretation’

37.

(1) Newspaper report

(2) Project
(3) Survey
(4) Debate
2 3 :
38. If x=§ and y=Z, then a rational

number  between (x- y)!  and
(x' -y is

71 1
1) —— 2) =
(1) &85 @ ¢

2 71
3) = 4) ——
S (.) -

39. If0-001+1-01+1-001—(1-03x0-1)
+(1-11+0-1)+x

36. 7@ &
§ a-w wé T &7

nﬁmﬁmmmmﬂm%n |
3 o <A A earfed F@ €
(@) 3 wEn - I @ ‘;
(@) amﬁmﬁézﬁaﬁmﬁﬁn :

qﬁaﬁaﬂaﬁaaaﬁﬁﬁq\%rﬁaﬁmﬁﬂ
(1) @

(2)

37, e & ¥ @m-a R ‘st
i ateel ¥ Frewr & fae 30

wdt 87
(1) TR e |
(2) wfeisHl ‘
(3) wa&

(4) ar-feame

38, IR x=% afn y=’—2— 2 @ (x-y) ! AR
(x’l—y'-l)%ﬁtl‘é?q@qﬁ'ﬁ'q@i@l%

b2

71
(2) 2

) =0

2 7
(3) 8 (4) 5

39, IR 0-001+1-01+1-001-(1-03%0-1)

+(1-11+0-1)+x
-1
=1-4x(—1—)
10

=1
o)
. 2, A xHAAR
then the value of x is
(1) 0-758 (2) 0-991 (1) 0-758 (2) 0-991
(3) 0-919 (4) 0-785 (3) 0-919 (4) 0-785
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40. If 3(5x-7)-4(8x-13)=2(9x-11)-17,

then the value of —* is
11x-9
9 14
1) — 2] ——
(1) = (2) T
14 9
3) -— 4) -—
(3) a1 (4) 3

41, 1f Y1058 X648 _ 15 1en the value of
X

X is
(1) 58 (2) 23
(3) 36 (4) 46

42. What is the value of A such that

3500 xY-3456 =40x A

is true?
(1) -15 (2) -2
(3) -3 4) -12

43. The value of m such that
) -
9 81 9
is

(1) -4
(3) -6

(2) 3
(4) O
44. Let x =597 %1022 +73.-5x10%!. When

x is expressed in standard form as
6-0435%x10™, then the value ofim is

40. aR 3(5x-7)-4(8x-13)=2(9x-11)-17

3@ XS wmamd

11x-9

9 14
(1) 5 @) 31

14 =
(3) = (4) 3

a1, o JI058 X648 _ a8 & xomm
X

(1) 58
(3) 36

(2) 23
(4) 46

42. A % ¥ WA A, 3R

3/500 x 3-3456 =40 x A

e g7
(1) -15 (2) -2
(3) -3 4) -12

43. m ¥ 98 UH, SEfh

BREGECN

?, 2
(-4 (2) 3
(3) -6 4) 0

44. TR fF x =597 %1022 +73-5%x102!

2| Tl TS 9 1 6. 0435 x10™ F TN
=R fRaL M, A m 1 HE B

Scanned by Camscanner
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(1) 24 (2) 21 (1) 24 (2) 21
(3) 22 (4) 23 (3) 22 (4) 23
45, If 2m—i=2, where m#0, then the | 45. 7f 2m—L=2 q, & m=0, ™
2m 2m
value of m? + is m? + 1 W HA B
16m? 16m?
1 1
1= 2) 4 1) 1=
(1) 5 (2) (1) 5 (2) 4
1 1
= 4) 2 3) 2=
(@) 27 (4) (3) 3 (4) 2
SPACE FOR ROUGH WORK / T %M & foIy e
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46. One of the factors of x* +4 is 46. x* +4 % @gﬂm@@ ?
(1) x®-2x+2  (2) x2-2 (1) x2-2x+2 (2 x?-2
(3) x?+2 (4) x? +2x-2 (3) x2+2 (4) x? +2x-2

47. The i
mean of the five observations 47. gt e x, x+2, x+4, x+6, x+8 FH

X, X+2, x+4, x+6, x+8 is 11. Then
the mean of the first three observations M 11 }) e i FEi 1 A T

(2) 9 4) 2
3) 12 @) 2 (3) 12 (4)
48. A bag has 5 red marbles, 4 green 48. b5 ¥ d 5 ?—ﬂa.ﬁ’ 4 R F9 o 3 i
marbles and 3 Fo 2l w2 1 % fif adfi e @
blue marbles. All
marbles are identical in all respects THO, g T ¥ 4 A & form it 2w
other than colour. A marble is taken T el ST Fepren ST 81 7 FW R Ol
out from the bag without looking into T8t B, gHehl w1 wrieRar &7
It. What is the probability that it is a 7 5
non-green marble? (1) — (2 —
7 B . 12 12
(1) — 2 = 1 B
i2 12 (3) 3 @ 3
@ 2 (4) 2
. 49. 3R ABxBA=BCB ¥, W&l A, B 3l C
49. If AB x BA = BCB, where A, B and C FoA TH @ IH W WeRld wWd E AR
stand for just one digit and A#B=#C, A#B#C®%, d A+B+CHI A ?
then the value of A+B +C is (1) 6 (2) 10
(1) 6 (2) 10
(3) 9 4) 8 (3) 9 (4) 8

50. M x, y 3R z W Pt SEe & wow,
il 3R foFrl 6 vl & gefifa #a §,

S0. If x, yand z represent the number of
faces, number of vertices and number

of edges respectively of a polyhedra, A Q@ FH-w w27
then which of the following is true? (1) yi2=2+x (2 x-2=2-y
() y=2=2+x (2 x-2=zy (3) x#2=2-y (4) z-2=x-y

B) x+2=2z-y 4) z-2=x+y

51. Ravi purchased two articles for € 1,500
each. He sold them, gaining 6% on

51. T 4 & =xgd W& N ¢ 1,500 F wler| 39y
T 9 H 6% A W AA @ F 4% TN

one and losing 4% on the other. His W ST W R AR F T IWHT o /B
gain/loss percent in the whole gfeed
(t;-)ansa.ctio;/is (1) @™, 2%
.gain, 2%
(2) loss, 1% @) &, 1%
(3) gain, 1% (3) =™, 1%
1
(4) loss, 1~21—% (4) ¥, 15%
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52.

In which one of the following cases, the
construction of a quadrilateral ABCD is

52. fa= feafert # @ e feafa 8 = gis ABCD )
T BYE qE R

not possible?

(1) AB=3-5cm, £B=125° 4«LC=80°
BC=5-5cm and CD =5cm
(2)

(1) AB=3-5cm, £B=125° ZC=80",
BC=5Scm AW CD =5cm

AB=4cm, BC=6cm, AC=8cm, (2) AB=4cm, BC=6cm, AC=38cm,
AD =5-5cm and DC=5cm AD =55 cm ¥ DC =5 cm

(3) BC=4-5cm, AD=5:5cm, CD (3) BC=4.5cm, AD=55cm, CD
:Scm,AC:S.SCmandBD:’?Cm :Scm,AC:S-ScmﬁRBD=7cm

(4) AB=6cm, BC=9-5cm, LA=75, (4) AB=6cm, BC=9-5cm, ZA=75,
ZB =150° and £C=140°

/B =150° W £C =140°

53. Let x be the angle which is equal to its Sifsm N
I complement and y be the angle which 0= A 5 ﬁfﬁ ;Whgmﬁ?%ﬁﬁﬁﬁz
is equal to its supplement. Then 2x +3Y HHim | yuE R 'y T
4 is equal to W%lﬁ2x+3yaﬂ‘éﬂ%
(1) 360° (2) 180° (1) 360° (2) 180°
(3) 135° (4) 270° (3) 135° (4) 270°
54. How many sides does a regular | g4, ufs w5 AHARHA % WeE A F A 108° 2,
polygon have if its each angle is of 3 7 - 2
measure 108°7? Ll gl # ERI
(1) 8 (2) 5 (1) 8 (2) S
(3) 6 4) 7 (3) 6 4) 7
55. ABCD is a quadrilateral in which fq@il BD =40 cm ®|

55. ABCD % Jgi¥ &,

BD =40 cm. The lengths of the perpen- e 3fe] § BD ™

HR T eEl $ eEEa

diculars drawn from the opposite 16 cm @M 12 cm &1 ags ATHS
vertices on BD are 16 cm and 12 cm. (& cm ) 3
The area of the quadrilateral (in cm?) is )
(1) 600 (1) 600
(2) 500 (2) SO0
(3) 560 (3) 560
(4) S80 (4) 580
» 56. Two sheets of paper with measure 56. FS H A Qﬁi @ T X, R 9™ 22 cm

22 cm by 28 cm are taken. Each sheet
is then rolled into a cylinder, one
having the height 22 cm and the other
of height 28 cm. The difference in their

% 28 cm 2| TRE e A Th de S ™
%,ﬁﬂﬁ@ﬁﬁ?ﬂlﬁ'ZZcmﬁ(@ﬁm
28 cm Bl Ih FRAA (SH cm ¥) R AW

volumes (in cm?3) will be il
(1) 316 2) O (1) 316 2) O
(3) 216 (4) 294 (3) 216 (4) 294
SPACE FOR ROUGH WORK / T% % et R
P-1I/M 15 [ P.T.O.

Scanned by CamScanner



m@éﬁé5024 cm ?|

Scanned by CamScanner

3R
87. A square and a circle are formed using 57 an F Th gﬁﬁ% § T bl ?‘;‘I {Fﬂ% Wa—g
pieces of wire of length 5024 cm each. —— i ¥ amhel Bl
The ratio of the area of the square to EElkl 3
that of the circle is AT 2) m: 4
(1) 8:=n @ m:4 (1) 8: 7 @) n:8
B) 4:mn 4) n:8 (3 4: 1 ; :
n i 1§ g &1 ¥
58. Anisha and Amit study in Class V!I. 58, 3 3l E&’ﬂﬁ\% e o TH Teanefi
Anisha told Amit that if the marks in i R Fel af £ s, d frEa o
Mathematics of each student in the ¥ T ¥ 3! i 5 Qﬁ’x ) f e
class are increased by 5, the average 5 6 Ejﬂ?x rauill Ig M T8 ift FEl
would go up by 5. She further says that e &l & st 3o TEd T
it is true for all numbers. Amit does not H‘@’J’T Y 5% WH W T4 n RECEE
agree and Anisha proves it by taking gar 3 ST 3 gqam feean
the case n, instead of 5. Anisha is using firg ferem ) arfam
(1) estimation (1) AT =l
(2) inductive logic ) st deh
(3) deductive logic (3) frmfas a6 w
(4) common sense (4) = TH H
59. Using technology-based games i i fa @emett F
involving factorization of numbers or 59. a—cf;ﬁ'sﬁ o @F{T’ Y ) Seet T8
formation of new shapes by joining THEs I -1 3“?“ al
2D shapes, etc. AR ST AT B 8, TH T
(1) helps teacher to manage students (1) FerenfRit =) fora 1 ST =7 @A
in Mathematics laboratory o frer Y GEId HET B
(2) enhances students’ numecracy (2) fRnPEt i EATF q&Edl AR giEheH
skills and computational skilis qeg Y W 2 :
(3) enhances students’ ability... 'to ' , - e
understand the concepts beétter as (3) feRnfiE § smumonst #
o bl 1 b #H gig otal ¢ e & Y91 AFFa1 h TTER
y arc able to explore, observe A
and infer at their own pace SFuu1, Nagor 3R Fepd FE F Fo P
(4) helps teacher to assess students’ . RIEICR
performance in Mathematics (4) g g faenfa % g wexla ==
HedTR 1§ GEEd] Ll
60. Writing proofs in geometry implies y ' 8
(1) steps of drawing a figure 60. sarfafa # 3uaftr feren G3a =+ 2
(2 two-col'umn table of axioms and (1) fereft aﬁﬁaﬁ@aﬁ%maﬁ
deductions o () R-wh afm ), Rl sheEn ok
(3) argument or justification of e 3
statements
(4) description of a geometrical (3) FoR % wh M i
problem (4) sfd v & avia =
SPACE FOR ROUGH WORK / % %M % fou wme
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61. Stomia usually takes her Class VII
?Edepts on a field trip. Which of the
ollowing could be the objective(s)?

A. Istt lfgg;itifas concrete experiences to

B. 211;13 cagrogive them assignmer}ts
assess” _g .ects for formative

C. It enhances process skills of
students,

D. It saves her teaching time.
(1) Band C

(2) A, B and C

(3) Only A

(4) Only D

62. Which one of the following assessment
strategies is most appropriate to assess
the experimental skills of students in a
science classroom?
(1) Paper-pencil test
(2) Practical record
(3) Checklist

(4) Concept mapping

63. “Open a water tap. Adjust the flow so
that it forms a thin stream. Charge a
refill. Bring it near the water stream.
Observe what happens. Write a short
report on the activity.”
The skillis) developed” in, /the
students through this activity is/are

(1)
(2)

experimentation only

observation, experimentation and
communication

observation, experimentation and
creativity

observation only

(3)

(4)

61. Wi s 3o wen VI % i =

62. fr=fifaa swem ghwa

63.

-9 R A S
R wHA R /ww §?

A. Tz Taai¥igi o 3 ITA TR = 2

B, ¥ 3% [ W Ao R H-FE e
TheA W T 2wl R

C. #® Tl % whmm =it
Easiid : = e

D. ¥ 35 femr aa ) w=m B
(1) B3R C

(2) A, B3R C

(3) %A A

(4) Fa@ D

R\ THEI/39F R T

T ¥ wR-H ghw
o wan O feePiE f ufe S R
Tehferd & o fore et anferes 3fea 27

(1) wre-ufret when

(2) T Al

(3) SE-HE (FHfere)

(4) STFERO HctaTo

“grfl % W@ @ S| 3 dae gR % T
T i | e ffre =t st R

= o B oa F e el Jgm R 6
w7 B 2| 38 ety i wfw Tl e

Tq AT % e | Rt @ ke
HIWE B/E

(1) FFA A H

(2) ST, S A AT G
(3) T, TN FHA| AT FoHIHRN
(4) el ST
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64. Identify the incorrect statement about
the nature of science.

(1) The methodology of science and
its demarcation from other fields
continue to be a matter of
philosophical debate.

the most established and

(2) Even
universal laws of science are
always regarded as provisional,

subject to modification in the light
of new observations, experiments
and analyses.

Speculation and conjecture also
have a place in science, but
ultimately a scientific theory, to
be acceptable, must be verified
by r(_elevant observations and/or
experiments.

3)

Science is considered as value-
neutral and objective, and the laws
of science are viewed as fixed.

(4)

65. Which of the following strategies are
most appropriate for a teacher to teach

the topic ‘Save Energy’?

Ask students to write slogans on

A.
saving energy
B. Write at least five ways to_save
energy
C. Make a model/project to | depict
energy saving
D. Encourage students to save energy
in various ways in their lives
(1) B, Cand D
(2) A, Band C
(3) A, Band D

(4) A, C and D

e S

W%ﬁéqﬁwﬁmzﬁqﬁh

A
54.2%11@?1%1@'
A I Ad " IEE
(1) fom %@m-ﬁaﬁwﬁwm%
3 %Hﬁmwﬁaaﬁtaﬁiﬁﬁm
2) T 2 o i, vl of fch
S g § g e, S AR
e 21
& s sreshe 1 ft TE Fa
(3)%ngﬁﬁﬁﬁmﬁﬁm
e T/ TE g e
e & e fFH S
3 # e o a8 % ¥ A <@
) e em & fonfl 7 for o
Eicid
' o fom #) gt F fr Frefeiad
65. ‘Fell W ‘ e g &7

A Frefid | s g W AR faed % fag
EXEL

B. ol wem % R FA-A-HH o qls
foa

! wEivEev yeRfa W@ % fag T/
Y sl ST

D. et = o shaw § Tl alisnt &
Sl TE 6 ToT Hreanied s

(1) B, C 3R D
(2) A, B3R C
(3) A,B3RD

4) A, C3RD
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66. There are two planets in our solar
system whose periods of revolution
around the sun are less than those of
our earth, but their periods of rotation
are more as compared to those of the
earth. These planets are

(1) Mercury and Venus

(2) Uranus and Neptune
(3) Mars and Jupiter

(4) Mercury and Saturn

67. The melting points (in °C) of Sulphur (S),
Aluminium (Al) and Iron (Fe) are 113,
666 and 1535 respectively. Which one
.of the following is correct?

(1) Fe, S and Al are solids at 200 °C
(2) Only S is solid at 200 °C

(3) Only Fe is solid at 200 °C

(4) Al and Fe are solids at 200 °C

68. An electric circuit is set up in such
a way that the positive terminal of a
battery V is connected to a bulb B,
which is connected to a resistor R
which is connected to bulb B,. Bj is
finally connected to the negative
terminal of the battery. Both the bulbs
are glowing. If the value ofgR, is
increased, then

(1) both B; and B, will 'become
dimmer

(2) B, will become dimmer but
brightness of B, will remain
unchanged

(3) B, will become dimmer but
brightness of B; will remain
unchanged

(4) both B, and B, will remain
unchanged

66. T ¥R fER ¥ W A mk ¥, e @ F 9w
AR wfGEAUEE BHR gEt % afeeRuEe
E3

gmm;%%%nﬁmﬂgw =
(1) 9u 3R Ip5
(2) T
(3) ¥ iR gewfa
(4) ¥ Ir Tl
67. TR (S), A=phtem (Al) 3 @ (Fe) F
Te (°C ®) FHM: 113, 666 a1 1535 &
frafofaa # @ F9-m @ T R
(1) Fe, S @ Al 200 °C A9 W 34 &
(2) ¥a€ S 200 °C YA W 34 ?
(3) 9@ Fe 200 °C Aq9H | 3 R

(4) Al 92 Fe 200 °C 9HH W 3 @

68. T fagrq ufwy T8 yER TR T R Al v
=1y 2hiE T ae B; W 8 @ W 9o
By ¥ 2 IRAIUF R ¥ 921 ?) w6 B, S
¥ FOMASH i A 1 8| I ded ATEE
21 3 P& vH we1 fomn =g, @

(1) B, 3R B, 3t H Gk w4 & s

(2) B, # difi w0 & Swh 3R B, H A A
1§ vREdA T e

(3) B, H &ify #=u @ srh ok B, f AW A
aﬁ%wﬁaﬁqqﬁm

(4) B, ¥R B, 3 ufafda @
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69. Read the given statements and select
the correct option :
Statement A :
The range of clinical thermometer
is from 35 °C to 42 °C.

Statement B :
The range of laboratory thermometer
is usually from 10 °C to 110 °C.

(1) Statement B is correct but
Statement A is false

(2) Both Statement A and Statement B
are correct

(3) Both Statement A and Statement B
are false

(4) Statement A is correct but

Statement B is false

70. Which one of the following places in
India is most likely to be affected by
cyclones?

(1) Puri

(2) Amritsar

(3) Udaipur

(4) Badrinath

71. The air near a heat source gets hot and
rises. The air from the sides comes in
to take its place. This is the way in
which the air gets heated by oil
heaters. What is this process called?
(1) Diffusion
(2) Conduction
(3) Convection
(4) Radiation

72. A book is lying at rest on the surface
of a table. Which one of the following
statements is true about the force(s)
acting on it?

(1) Only frictional force is acting on it.

(2) There is no force acting on it.

(3) There is a pair of balanced forces
acting on it.

(4) Only gravitational force is
on it.

acting

69. fu mu Fert A afgv qun @@ femea #:1 g -
e A
gl oA (gEidter) #1 afeE 35 °C
@ 42 °C ®I
HUT B :

Wmﬂ‘t (o) = i g
10 °C ¥ 110 °C & 21

(1) %o B @l @ fofeg oA A TTemd &
(2) F9 A 91 Fo9 B SF1 Tl ®
(3) F4 A a1 F44 B 2H1 7TAd &
(4) Fo A @ ¥ B Fo B 7T B

70.m%ﬁw%ﬁaﬂwrﬁﬁaaﬁq-m_w
ThaTdl A wad AR wafia fme?

(1) 38
(2) yam
(3) 3L
(4) FXHT
71. B SO % G % gy T | S R 991 W
I3 S 8| &A1 YAl Y TR THHT T o o)
?1 36l YHR T A @ @ off T A R uw
F-d ufshar 27
(1) fermm
(2) @ETA
(3) Hasa
(4) fafmm

T T 09 ok T W w4 el e

R AR Fe/aw b aR F SefRe §

HF-H1 T HU4 geg 27

(1) 8 R baa wdvr s/t % 3 @ 2

(2) R HE 7@ w1 T8 = @)

(3)w;é§%aaﬁwwshs1maﬂ
@I 2|

(4) wmﬁaqm@mwmmw%l

72.
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73. Read the given statements and select
the correct option :
Statement A :
Husk is separated from heavier
seeds of grain by winnowing.
Statement B :
lefe.rence in the size of particles in
& mixture is utilized to separate
them by the process of sieving and
filtration.
Both Statement A and Statement B

are true
Statement A is true and Statement

B is false
Statement B is true and Statement

A is false
Both Statement A and Statement B

are false

(1)
(2)
(3)

4

74. The pressure in a fluid that is at rest

(1) acts in all directions
(2) acts only in vertical direction

(3) acts only in downward direction
(4) acts only sideways

75. Which of the following statements are
true about image formation in a plane

mirror?
A. The image is larger in size than the

object.
The image is formed at the same

distance as the object.
The image is laterally inverted.

The image is virtual.
A B, Cand D

(2) A, Band C

(3) B, C and D

(4) A, Cand D

76. All
except
(1) hen’s egg
(2) zygote
(3) embryo

B.

C.
D

(1)

of the following are single-celled,

.

73. R e et A gy qun wé frren ) gfw -
AT A
I s @ e o g osem fem
S 21

%A B :
faftm sPr & Foit % fam = 9w 3
Tt ufsran g0 sem e s R
(1) H°F A G U B S A ®
(2) HU A T} AA FAH B 3EA
(3) U B U™ & AU FHAA A HEA »
(4) FoA A TN FH B A WA R

TOR ofeen § 5@
(1) |sfi fremedt § <ema st @
(2) o weeeq fem o <= S
(3) Faw A= e § @@ @ R
(4) Fact ured i 3R I e
wF uOed g9u W ufafie S % gew #
fraffaa 1 @ -7 FF U 'Y
A. gﬁﬁawmw%m%mﬁm
|
B. whifsa awg =R 50l % e gl W s R)
C. whifee Ted wfiitia g B
D. wiafss e B g1
(1) A,B, C IRD
(2) AyB 3R C
(8) B, C &R D
4) A, C3RD

76. Trfafan @ wReE §, Ramw
(1) ofl = 3Fet
(2) TH [T

(3) q
(4) YehfRem

74.

75S.

(4) paramecium

SPACE FOR ROUGH WORK / T % % fau W=

P-II/M

Scanned by CamScanner

21



78.

77. Read the following examples from daily

life and select the appropriate option :

A. When food gets spoiled, it produces
a foul smell.

B. A slice of apple acquires brown
colour when kept out for some time.

C. When an ant bites, calamine is
used to ease the irritation on skin.

(1) All are chemical changes

(2) A and B represent chemical changes

(3) B is a physical change

(4) A and B are physical changes

A student burns a magnesium ribbon
In air and dissolves the ash of the
ribbon left after burning in distilled
water. On pouring one drop each of
this solution, first in blue litmus and
then in red litmus solution, he would
observe that

(1) blue litmus turns colourless,
whereas the red litmus remains red

(2) blue litmus remains blue, whereas
the red litmus turns blue

(3) blue litmus turns red, whereas the
red litmus remains red

(4) blue litmus turns red, whereas the
red litmus turns blue

79. “Copper cannot displace zinc from its

salt solution. Give the reason.”

The following reasons are given by
Class VIII students :

A. Copper is more reactive than zinc.
B. Copper is less reactive than zinc,
C. Zinc is one of the noble metals.

77.

78.

79.

8 e ¥ freRa IaTew wfey qu g

- EAIE LK
T , 4 7 g

6. 24 7 1 3 g9 ¥
. _{_@Tm%,-‘:ﬁa'g{{]‘gﬁm%l

A Y ¥ I e B I B F
(1) ot Tamf TREd

(2) Ao B TR HREd T F@ §
(3) B Hifih qad

(4) AamBWWﬂa?h%

o B fre 1 amg § e e d
ﬁﬁgwqﬁwmﬁaﬁmiémqq
T ¥ w8 e A w6 R A
fererg ot fR o frer® W SeH W 98 98
Stegor =M 6
(1) Fren fremm TR @ ST R, SEE T

BRI

C.

forera ot € @ ®

(2) Hen fremm dren @ w2,
e en & st @

(3) Hen fremm @@ & S R,
oo @ € @ R

(4) Fren foems @ @ ST R,
frema e & st @

"qiE1, ST B IGH ATE F Uid § e @
X HHAl | FHRO o)’

FPVII % Tyl g fefafag s R
RI LU
A. diny S 9 it ariuRRmsie 3
Buy de, S @ %5 SR 2
C. SRl 3cpE uigall ¥ § uF )

EEIEIRSI]
ECICIRSI S|

I B

D. Zi ears below pper in . o
reactivity serios. “opper 1 D. afirfen saen & s, @1 % A 2
Select the correct reason(s) from the e VI & Tenfefat g fag MY HROT |
reasons given by Class VIII students. A wHt wHwor /it w gh
(1) Only B (1) ¥ B
(2) Aand D (2) ARD
(3) Only A (3) ¥aa A
(4) Cand D (4) C3RD
SPACE FOR ROUGH WORK / (% % % e <
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80. Select from the following a group of 80. F=fafad # ¥ Shamet (FFhfmn) T Fem

diseases caused by bacteria. Elgkieak:t e sl
(1) ’l‘uberc_:ulosis, Pneumonia and (1) wufes (iﬂ"ﬂﬁf’ﬁﬁw), '_*'?’hﬁm SURLEIN
Typhoid qER (TAFEI)
(2) Chickenpox, Influenza and Polio (2) DA T, TR A AR
(3) Malaria, Polio and Typhoid (3) A, Wferh Y B gEn (i)
(4) %}:li)cken%ao:;, Meningitis and @) A r'nm afmreny  (AFFemsER) i
erculosis ar 4
Ul (Tgageies)

81. Consider the following Column—A and

Column—B in which the names 81. f¥ feu Mg W“‘"‘_A;‘ﬁ( Wq_;BqT:(ﬁTni
of micro-organisms are given in #Hifse o w—A H\;‘ﬁléiﬁq .
Column—A and the groups to which %ﬁ_"{l w—B # 3 a0 F M T & fomE
they belong are given in Column—B : 3 geafva 2 -
‘r’ Column—A Column—B TTWEH—A 'W‘H—B
(@) Aspergillus (i) Algae (@) YefeE () Rt
’ (b) Lactobacillus (i) Bacteria (b) TFEEfHAE (_1_1) Sfamy
(c) Paramecium (iij) Fungi (©) brsiito (1.11) %dh
(d) Spirogyra (iv) Protozoa (d) p=* (EAIESY (iv) TSI
(v) Virus (v) Tommg
The correct match of the items of T —A F Tel & &EH—B £ "l F "™
Column—A with that of Column—B is o firem 2
(1) a b c d 1) a b c d
i@ vV TR TR -
@2 a b ¢ d @2 a b.. c d
@ a b e d @ a b ¢ d
i v i Woooi ivo i
4 a b c d 4 a b e d
v iii ii iv v iii ii iv
82. Which of the following statements are 82. ﬁq—%ﬁ@—d FE PH-D w0 A =R 9
true about veins in human circulatory R F ﬁqq.ﬁ pe 1 - X4 ) 5
system? o A, wfi R FEA SREES-Sgd W
A. All veins carry carbon dioxide-rich g 3
blood. B. Rreit $ A vaeh B
B. Veins have thin walls. _ C. Rw w 2 R T W &ed A AR A
C. Veins carry blood from different o 3|
organs to heart. (1) A, B #RC
(1) A, Band C (2)A3?RB
(2) A and B (S)BﬁRC
(3) Band C @) A st C
(4) Aand C
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[ P.T.O.

p-1I/M 23

Scanned by CamScanner



83. Cellulose-rich food substances
(i.e., roughages) are considered an
essential component of a balanced diet
of human beings. Which one of the
following is the correct statement about
cellulose?

(1) Cellulose breaks down easily into

smaller components which are
egested as roughages.
(2) The cellulose-digesting bacteria

present in human beings convert
cellulose into fibres.

(3) Human beings do not have

cellulose-digesting enzymes.

4) Cel‘lulose is a type of carbohydrate,
which gets absorbed in the human
blood and gives energy.

84. The joint between head and upper jaw
is an example of

(1) ball and socket joint
(2} hinged joint

(3) pelvic joint

(4) fixed joint

85. Identify the correct statement(s) :

A. The freshwater stored in ground is
less than that present in the rivers

and lakes of the world.

B. Water shortage is a problem faced

by people only in rural areas.

C. Water from rivers
source for irrigation in the fields.

D. Rain
water.

(1) Only D

(2) Aand C
(3) A and B
(4) A, Band C

is the only

is the ultimate source of

5 -awet @E-ga (Sa) qFE % A
83. @E;?ﬁﬂm %agﬂam mqﬁm%\_ﬁsﬁaﬁt{a
3 } - T F A F A TR

e STl A PR-oR s d
(l)m%,ﬁgm%wﬁﬁﬁﬁrﬁ?ﬁ%

Eichd

T Iufed S-qrEeh ST,
@ %aﬁ%ﬁﬁvﬁ?«j’;ﬁél

(3) TTa & AeTEe YT TEA TE E |
S Th THR 1 FEERSE 8, S AW

“ ﬁmﬁgﬁﬁammmm%l
84. R 3 Tudt T F = T Sig Th ]|

(1) g% Tigen G (ST Tg Wihe Sige) i

2) &= wfu (&= wige) =

(3) =nfor @fyr (Afea= wifge) =0

(4) w5 wiYy (frees &T52) =1

85. TEl U /HeHT Tl TRHTAT -

A. ot # YEia a0 sie oy 6 akEl R
el A faemm Sia A %1 R

B. Swochi, w1t e ®, TNes "
haed AW A S B

C. dai®l = & fou fEl =1 s & s
/4 R

D. ¥ % qayd 9 aui @ 3|
(1) %a&t D

2) A3RC

(3) AR B

4) A, B3 C
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86. The assessment

in science should 86. FM & 3The W T 3 =iy
focus on

= xR
(1) the understanding of concepts and (1) srerons sh sfEmsh <
processes

| (2) i somiad shw ST
(2) precise definitions and

correct
answers

3) mm@q@maﬁmﬁm

(3) getting accurate results while

conducting the experiments (4) 9% 3R Ty @ S A T

(4) the ability to make neat and clear
diagrams

87, Prefiffan # & qw W /TR R

TEI|
87. Which of the following make(s) good

open-ended question(s)?

A, TR gER Wi § w1 6, @ W@

A. What difficulties would we face e e
%f our bodies did not have muscles
in it? W%ﬂﬂi} W%ﬁgmw%ﬁﬁ
FT AR 87
B. V\ihat is;p the difference between the
stem o
e tulsi% rose plant, mango tree o gl s A R-deh # aga 3T B
HAsUERI S

C. Snake and snail have very different
styles of movement. Why is it so?

D. ffiE i@ @1 e Hive 3 IR

ferdmard ferfaw)
D. Observe various roots and write
their features.
(1) AR C
? (1) A and C
; (2) B 3R D
( (2) B and D
A
(3) Only A (3) e
(4) Only C (4) %aa C
SPACE FOR ROUGH WORK / T% %™ & fu wg
P_II/M : 25 [ P.T.O.
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88. Read the following which appears in

Class VIII NCERT textbook :

Nylon appears like silk. It is strong and
flexible. These endearing qualities of
nylon created a public sensation, or
f‘lylon mania, when it was introduced
In 1939, Women’s stockings made from
this new fibre were in great demand.
But, unfortunately, most of the nylon
pProductions had to be diverted to
making parachutes during the Second
World War (1939-1945). After the War,
when production of stockings resumed,
supply did not match the demand.
There was a huge black market for this
product. Women had to wait for hours
In queues to get a pair. Often there
were ‘nylon riots’.

What are the significances of
including the above in a science
textbook?

A. To develop a historical perspective
In  science and development of
ideas

B. To develop an appreciation of
how new inventions create new
demands

C. To develop a holistic understanding
of science

D. Including such anecdotes makes
science textbook light and easy

(1) A, Band C
(2) Only A and C
(3) Only B and C

(4) Only A and D

88. Fam VIII H TWe Hro éo Mo Fo F

TrE-ge § @ fey o FEfifEa sgeee
i Yo S e ) 98 yae I e
ﬁlm 1939ﬁaﬁaﬁmm,_ﬁg‘:
. Sl § gHEH 31YEn AR -
E;ﬂﬁmnwm%ﬁﬁaﬁqﬁmaﬁ%ﬁ
# wlt uin off| wg guia @ fdfm fawgs
(1939-1945) % +oid AgeA  3cdEd  H
i foee = ¥g wW A fr sm
W'R%W,WMWWF:W‘J
gen @ "t % rgEn qfd T ® wh | 58 Sedrs
3 form o W N AR o1 T Ser A 5
o nfgened H FE 92 @A § T g=ar o)

4 AR g IuEa’ ft A S A

& urew-gs @ Iugw W i
T Ry T qrefeat 27

A. fom d et ofdem w1 fem @
el w1 ferepre =T

B. 18 ¥u3 fawfya # f v snfessr firg
e T wil ) Iy Fg s

C. Jeom L g7 gng &1 o

D. W He-gwici =1 wite %6 ¥ fawm

(1) A, B2fRC

(2) ¥ A 3R C
(3) %ew B 3k C
(4) %@ A 3R D
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89. Sometimes the students have
alternative  conception related to
various science concepts. What should
the science teacher do?

(1) Scold the students
non-scientific ideas

for having

(2) Tell the students that their ideas

are ‘wrong’ and teach them the
correct concept

(3)

Ignore their ideas

4)

Help the students revisit their ideas
through various activities

90. Wh.ich of the following statements
indicate(s) a good science classroom?
A. The learners devise their own

experiments and record their
observations.

B. The learners observe the
demonstration by the teacher and
write its steps.

C. The learners are, free to ask many
questions.

D. The teacher, along with™the
textbook, uses multiple resources
to teach.

(1) A, Cand D

(2) A and C

(3) Only B

(4) B and D

_ooft foanfidl # e el sEumomsR
5 E‘gm sraumon B 21 frem fas =
I AT =TT, ¢

(1) s faemd 3 form, T = =i

(2) ﬁxm&%ﬁaﬁmﬁﬁmfﬂw TTd %

(3) =% Feraml i e

faform ot 3 wom & S few @

W) e @ & P A 7

0. Fraffaa ot & ¥ AA-T/2 T wr=h Bam
2 F4T ) I HHA FO &/FW 87

A foandf @@ s yEm w6 it W
S @ B B :

of, e g R, i el ves
. E‘%mm% A seF TE R e
2

C. Femfl it T T3 % fa =@ R

e fveam ¥ e aee-TEE F WY-a
° farftre FEAT 1 I FE R

(I) A, C 3R D
@) A3fRC
(3) ¥a@ B

(4) B3 D
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i 0=
IMPORTANT : Candidates have to do|Wewrqul : whemE A ¥ Ho 31 F 9 €

(QN;lestion Nos. 31 to 90 Either from Part—II | sym—iy (wifira ofR fomm) 1 sm—1il (wmferh Sty
athematics and Science) Or from Part—III At ) @ A 8

: — |
(Social Studies/Social Science), / )

PART—III / 9M—III
SOCIAL STUDIES/SOCIAL SCIENCE | Wi svesraa /amihrs fmm

Directions

: Answer the following questions | 3 : frefefad s ¥ W | F fAC wh/w=

ct:i;t.selecting the correct/most appropriate | Iugw fawey ghm)
ions.
o At b 87
81. Why is the study of Social Science | 31. WM fm 1 3
scientific? (1) 3% orarfa oag ads @ Fa I
(1) 1t comprises systematically w1l foran ST 2|
acquired verified knowledge.
_ owledge (2) TR UISH ) GEIS & SFIH ST FA |
(2) It helps its reader to study the T T 2
scientific society. 5
(3) It uses scientific terms in its @) swh fowaeg # o9 e L
content. T R
(4) It fulfills the demand for calling (4) & WHIER SIEEE ) fagE He A A
Social Studies as science.

=1 QU Ll € |
32. You have to depict the proportion

of time a rural worker spends 32. 3" w s # Tfvm, gt ik

as employed, underemployed and st oefio sfe g fam o $
unemployed in a year. Which one of the HiEuTd 1 e o= 9 @) FafaReas § 9
following diagrammatic representations MY AA-Y e B 5 7

would you select?

(1) Bar diagram (1) s e

(2) Pie diagram (2) =% ARG

(3) Time-line diagram (3) TR-X@ @

(4) Flow diagram (4) vaTE =

33. Select the most appropriate reason for

assessing students through art in 33. et «1 amifyes IEEICIRCED I I -

Social Science subjects.

W Y e F T R HR gfm)
(1) It is a means to enjoy different i
styles of expression depicted in the (1) ¥& wTe-g&h A Terié ™ fafm rfreafi
textbook. * AT F e o = mem Ry
(2) It improves students’ artistic (2) we Fenfat A feewren 6 dva J Jur
(3) It makfes it an enjoyable way of (3) 7 T I T 3,
evaluation. AFTH YT 61 Al
(4) It provides an opportunity for (4) T’ IFEURMS F wH ARHT TR
personal interpretation of concepts. FA H ST TS FAT B
P-1I/M 28
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34. Vk;h::a}] one of the following projects on
‘glo warming’ is based
B on secondary

(1) A collage of pictures on global
warming

(2) Interviews with elders living in an
area on changes in weather

(3) A graphical representation of
unanalyzed weather data collected
from meteorological office

(4) A discussion based on the weather
changes mentioned in a book

35. A teacher provides some criteria to
stufients and asks them to assess their
projects on those bases. Which one of
the following assessment measures has
been adopted by the teacher?

(1) Formative assessment
(2) Peer assessment
(3) Self-assessment
(4) Summative assessment
36. What is the nomenclature change

suggested by the National Curriculum
Framework (NCF), 2005 for Civics?

(1) Geography
(2) History
(3) Social and Political Life
(4) Economics
37. Which value will you emphasize the

least in the upper primary Social
Science classroom from among the

following?
(1) Cooperation
(2) Competitiveness
(3) Scientific approach
(4) Equality

38. What is the purpose of summative
assessment of students?
(1) Assessing at the end of term

(2) Assessing during the class

(3) Assessing a project
(4) Assessing at the end of a lesson

P-II/M
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35. wh e i

36.

R7?
(1) ws?ﬁ‘ﬂammﬁiﬁmaﬁmm
2) @mﬁral%aﬁsmﬁaﬁ%muﬁ@ﬁ

a1l ufEdH] T HIETERR

(3) mm%mm@ﬁaw
¥ ofwafa wiwst W enuRa el
e

(4) o e # Sfghaa e 3§ g aRE w
anyTied == T

# 3B AFds 0 § 3R
urf otef afEsm

rfes-TTE ) A # g deseEl R
FT0@] (To Ho TWho), 2005 A S&eE Hl I

ged fe 87
(1) e

(2) e
3) TR &R Tt Sien

(4). FE
freffed § @ 3= WERE W W AEISE
frgm ¥ wa-wa § g B T W AR T
a7
(1) HeEam
(2) TR
(3) &b e
(4) WHE ,
38. it % G SHeH 3 F1 R
(1) G % WHTH B T ATHEH
(2) & % IRH HTheH
(3) UTISHI 1 3TTReH
(4) T8 F < H ATHeH

37.
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7 e ‘aug;

Rres ® & VI

39. Suppose a teacher has to teach the 39. °H E”“;qﬁ» gl 2| fmafafiaa 3 3
L Fad aifus 3 #rfi?

chapter, ‘The Cold Desert—Ladakh’ in
Class VII. Which one of the following Fm-d
methods would be most appropriate? 1) e &
(1) Workshop method ;ﬁmﬁﬁl
(2) Survey method @ = R
(3) Case study method (3) *

(4) aefg fafur

(4) Regional method
aeﬁ]/ -
e 2 =@ R

40. Which one of the following methods 40. 3= Ty W
Is most relevant for the teaching of N @R * T frafafad 3
historical facts/historiography at the aﬁaﬁ.méﬁ?ﬁ 7
upper primary level? -
(1) Map method (1) wmfe fafe
(2) "R R

(2) Project method

(3) Problem-solving method (3) wmer-gaaH &

(4) Source method )  GRCID
41. The National Curriculum Framework S
(NCF), 2005 recommends that 41. TEH Wﬂlﬁ HE (%o lﬁo%:—;z&
children’s school education must be 2005 #I wEgfd & ITIER a=h
linked with e Pt § @ fhes @ o =R’
(1) the annual examinations (1) CHEE R AL
(2) the out.side school .environment (2) Feerem % = SE@
(3) the mainstream opinions 2o
(4) the conditions of the school S ] .
infrastructure (4) To=nem &t SHRT G=H
42. On which of the following choices is 42, FEfaRe .4 frg faFeg &1 gve 3@ g
the data best represented by a ' bar o8 =3 qls B 291 1 Hehdl 27
diagram? ; -
(1) Air pressure (T)7erg
(2) Temperature (2) e
(3) Rainfall (3) =t
(4) Humidity (4) 3TEa
43. In order to .de?relo_p an understanding 43. TredifE dens A R (N SRR o 9
of democratic institutions, choose the y
most appropriate curricular approach o frefefae § @ wad sha TieTmn @e
from the following. 39T il Tl
(1) Provide examples of realities along (1) arafes Rt & @y oy Rl %
with ideal situation SRTEWN 1 e Al
((;) Ilzrescf:be xdea.l ;sltuatloz.ls 4 e 2) aTeNt feufet = =i
ovide mainly nation eve
examples (3) B &9 R ugEala e YA
(4) Introduce students to harsh (4) fanfial =+ arafer RGE Y
realities aitfea F=m
P-1I/M 30
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44,

45.

46.

47.

In  which one of the following
languages, mathematician and
astronomer, Aryabhata wrote his book,

Aryabhatiyam?
(1) Prakrit
(2) Hindi

(3) Pali

(4) Sanskrit

Which one of the following Stupas is
marked as the place where the Buddha
preached his first message?

(1) Bodh Gaya
(2) Sarnath
(8) Sanchi

(4) Thotlakonda

Which were the three dynasties
referred to as ‘Muvendar’ in Sangam
poems?

(1) The Cheras,
Rashtrakutas

the Palas and the

(2) The Cholas, the Rashtrakutas and
the Pandyas

(3) The Palas,
Pandyas

the Cholas and the

(4) The Cholas, the Cheras and the
Pandyas

The Rampurwa bull, a polished stone
sculpture, now placed in Rashtrapati
Bhawan, was built during the reign of
which one of the following?

(1) The Pandyas
(2) The Mauryas
(3) The Cholas

(4) The Kushanas

44. TR qu @heEl FEse X sEydyg

TE EE etataa s # @ e
fereht oA1?

(1) wThd
2) &=t
(3) urefl

(4) EEp

45. Frafafad el § ¥ fra oF A 39 ©E F w9

% fafea frn T 2, el g8 3 TEel AR IRW
e an?

(1) e
(2) WA
(3)
(4) edreamhiST
46. T FRael § B G TSEE B g
HET T 7
(L) =, T, TR
(2) =, W, T
(3) U, =, 9T
(4) =, =, 9=
47, TageE B firen IcFE difem a9 TR WS
dfe, R 3@ Tgoly woa B W@ T R, T R
forEeh TR § SR TR e
(1) W=
(2) ¥
(3) =<t

(4) F

P-1I/M 31
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48. Who among the following propounded
the doctrine of ‘Vishishtadvaita’?

(1) Allama Prabhu
(2) Shankara
(3) Ramanuja
(4) Basavanna

49. An archive is a place where

(1) remains of the buildings made of
stone and  bricks found by
archaeologists are kept

(2) sculptures found in excavations are
kept

(3) historical manuscripts
documents are kept

(4) excavated bones of animals and
birds are kept

and

50. Which one of the following statements
is correct about the Veerashaiva
Movement initiated during the
mid-twelfth century in Karnataka?

(1) It argued against Brahmanical
ideas about caste and treatment of
women.

(2) It was initiated by Namdev and his
companions.

(3) It focused on worship of Vitthala.

(4) It was against all forms of ritualism
but promoted idol worship.

51. Consider the following two statements
A and B about ‘Bandagan’ in the early
Delhi Sultanate and choose the correct

answer !

A. ‘Bandagan’ were special ‘slaves
purchased for military service and
were trained with great care to hold
the most important political offices

in the kingdom.

B. ‘Bandagan’ were totally dependent
upon their masters. So the Sultans
could not trust and rely upon

them.
(1) A is true and B is false

(2) A is false and B is true
(3) Both A and B are true

a8. ‘W’%Wﬁgﬁﬁwmﬁ
wege fean?
(1) g™ 94
(2) ¥
(3) TS
(4) @Al
49 N mwmmq—m?ﬁ%
<+ g 35 TR TS S

50. mﬁmm%nwmﬁwﬂﬁa'tg‘a

aﬁm%éaﬁﬁﬁn%m%ﬁﬁﬁﬁ—m

TF HE -7

(1) s@aﬁaﬁzm%ﬁuﬁm%aﬁﬁ
T frarem ¥ feg e

() e TRE oht T wRE T gE R
gl

(3) T fazw A o W A Tl

(4) =% Gt TR % HHmS 1 FRER o1, Wg
Hfgst i serEn fe

§1. P o woaa ¥ wwa § W@ % SR
FRmtRaas o A 3k B w =R fifve
Tor WEl Bl g T ;

A St TR em 3, R s | %
fort @der s o 3R I TS & 9gd W
TR ToHIas Tal | EH w6 T
¥ gragH ¥ vifia R s e

B, ‘e o R W w AR AR A,
FET gea 37 W T @ a3
AT H W R A T )

(1) A 9& 2 3R B e @
(2) AT ® 3R B U ®
(3) A 3R B3 ¥ %

(4) Both A and B are false
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(1) Xuan Zang
(2) Vasco dg Gama

(3) Christopher Columbuysg
(4) Fa Xian

53. Which among the following dynastie
S

introduced Mala am
. . . yal 1
script in its inscriptions'bamgua.1ge g

(1) The Kushanag
(2) The Cholas
(3) The Cheras

(4) The Pandyas

54. The Revolt of Son ;
gram San
took place because gma in 1906

(1) the peasants in

Champaran
revolted against the ind .

igo planters

(2) the Muslim traders in Bengal rose

against the unequal terms of trade
set by the British

(3) the Patidar peasants of Gujarat
rebelled against the high land
revenue demand of the British

(4) the tribal groups in Assam reacted
against the colonial forest laws

55. The Simon Commission, sent by the
British to India in 1927, was opposed
because

(1) it had only English educated Indian
representatives

(2) it had no Indian representative on
it
i i resen-
(3) it had very few Indian represe
tatives as compared to the British

(4) it had no Indian woman

representative

P-1I/M

Scanned by CamScanner

33

52.

S83.

54.

55.

AR A A R wwe = wgd wen  %
o aftem i ol wwum W sewits weET
=+ IR R

(1) g sm
(2) IT=H T T

(3) TFreIm Hiemey

(4) =1 fsrm

Frfafea ooee § & fFem o sl &
HeTerd s wa fafy s s e e

(1) Fum

(2) =

(3) =

(4) drsA

1906 ¥ gu Hium T % frde # SR o

(1) f= % arm-mient % feg wwmo §
[CICIEREHIRED]

2) =msi T Pt s f R
() T % fwe ama ¥ gew

HTITE] 1 38 TS Bl

(3)_ TN H R fRam w1 RN g d9n
M T8 T & Raens fodie

@rewm & enfEml wEl s e
At o= w1 R

fofew weem 4 w9, 1927 o s & 1o wpEnd
¥ o wHEE O, e R TR mn,
CRIIC

(1) 308 el SN ve-forw i e
EIRIECRERIRCID

(2) @ I ¥ g v sfeffa T o

(3)3331@11*2%@??!@@&11“@“'

ylaffert i g 7 % ster R
(4) 3o F off vl wfden wioRi = R
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56. Match the following :

Movement /
Organization

Reformer

(@) Brahmo Samaj () Swami Vivekananda

(b) Young Bengal

(i) Sayyid Ahmad Khan
Movement

(c) Ramakrishna

(iii) Henry Louis Vivian
Mission

Derozio

(d) Aligarh Movement (iv) Keshab Chandra

Sen

(1) a b c d
i iv iii ii

2) a b c d
iv iii i il

(3) a b c d
iii i1 iv i

(4 a b c d
il i iv i1l

S57. Veteran Gandhian leader Potti

Sriramulu went on hunger strike in
1952, demanding the formation of
which of the following States?

(1) Telangana

(2) Tamil Nadu

(3) Kerala

(4) Andhra Pradesh

58. Who the

among following was
an exponent of the notion of
Wahdat-i-deen that upholds the

essential oneness of all religions?
(1) Baji Muhammad
(2) Muhammad Ali Jinnah
(3) Maulana Azad
(4) Sayyid Ahmad Khan

59. The main latitude that passes almost
halfway through India is
(1) the Arctic Circle
(2) the Equator
(3) the Tropic of Capricorn

Hh
SRR [ATEA b :
(@) agﬁ — (1) 'aT‘ﬁ iéézma
(b) et - :ﬂ:ra-aq (11) {42 ATAS gl
(c) TwFen fae (i) & g T TS
(d) srefime e ) 3 3
(1) a b a <
i iv i 1
2) a b ¢ ?
v il 1 n
@ a b ¢ d
oo v 1
49 a b c d

i i v 1

Fy=fatad

. ﬁm ‘ﬂ—ﬁﬁ 5
57. s9gg MHaEE LI 1L % wm

Tt § A frwr o F e w1952
T W A3?
(1) e
(2) aferrg
(3) F
(4) 3Ty W&
58 AFTT-Gd i @t wel A A T ¥
Teme 31 | = ¢
(1) =TSt gEwe
(2) FewR et fmn
(3) WM TR
(4) ¥=R e G
59. W & T HET W A Do oA a1 W@
Heqw }
(1) e gw
(2) e (fagee-3@)
(3) W@ (WeR-)

(4) the Tropic of Cancer
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60. Which one of the following defines

‘Earth Day?

(1) The days on which the days and
nights are equal all over the carth

(2) The motion of the earth around the
sun in its orbit

(3) The distances  between the
longitudes

(4] The period of one rotation of the
earth around its axis

61. Match the following :

Types of Vegetation Species of
Plants
(@) Tropical rain forest (1) Sundari

() Tropical deciduous forest  (i1) Babool

(¢} Thorny bushes (1) Mahogany
(d) Mangrove forest (iv) Sal
(1) a b c d
iv 1 i 1
(2) a b c d
11 iv il i
(3) a b c d
i il i v
(4) a b fo d
il 1 iv il

62. India’s research stations named ‘Maitm’
and ‘Dakshin Gangotri’ are located in
which one of the following continents?
(1) Europe
(2) Australia
(3) Africa
(4) Antarctica

63. Consider the following two statements

A and B about ocean currents and
choose the correct answer :

A. The warm ocean currents originate
near the Equator and move
towards the Poles.

B. The cold ocean currents carry
water from lower latitudes to higher

latitudes.
(1) Both A and B are false
(2) A is true and B is false
(3) Both A and B are true
(4) A is false and B is true
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60. fuftrfir A A A ‘geel) faa’ ) aonen R

(1) 22 e gyl el u et A
A &

(2) yed ) mly o ard e a0
el R

(3) derad & wear ) ghad |

(4) yadl w1 A AN G uh g TEE L
SOIRIER

61. foafifaa & gl S segy,
Tt & TET aut @ gt
(@) wrwRadi and @1 (i) gl
(b) Iwrwfeadia vawsg @4 (i) 99T

() wdveh wfyal (i) weTh
(d) g a9 (iv) drd
(1) a b c d
iv iii i i
(2) a b c d
1ii v i i
(3) a b - d
1 i iil iv
4 a b c d
1 1 v i
62. R’ 3 Tl ieh’ e wd 6 My wEA
Frferfaa werdat ® @ wgl R €7

(1) &
(2) HArgieman
(3) sk
(4) IFeThfea
63. TEETHE uell % gy § A fw A
Fl A 3R B R R e aun @ 3w w1
Wiﬁlﬁ‘l:
A wW () TR ORd smEevar %
ﬁﬁ:a%mﬁ?ﬁ%aﬁtgaﬁﬁaﬂxwﬁa
|

B. ¥ (3vd)) wermrriE urd = s @
I A P A o T B

(1) A 3R B 3 Terd &
(2) A& ¢ 3R B Tod @
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64. ‘Transhumance’ refers to
(1) urban to rural migration of labour
force during harvesting period
(2) seasonal movement of people
their livelihood

(3) seasonal movement of people with
their livestock in search of new
pastures

(4) seasonal movement of wild animals

for

65. Match the following :

Examples
(if Limestone
(ii) Sandstone

Types of Rocks
(a) Intrusive igneous rocks

(b) Extrusive igneous rocks

(c) Sedimentary rocks (iii) Basalt
(d) Metamorphic rocks (iv) Granite

(1) a b c d

iii iv i ii

20 a b c d

iv iii ii i

(3) a b c d

i il iii iv

4) a b c d

ii i iv iii

66. ‘Chinook’, a local wind, blows in which
of the following regions?
(1) The Pampas
(2) The Velds
(3) The Prairies
(4) The Savannas
67. Which one of the following atmospheric
layers helps in radio transmission?
(1) Thermosphere
(2) Stratosphere
(3) Troposphere
(4) Mesosphere
68. Which one of the following is a variety
of ‘gold wrought™?
(1) Jute
(2) Silk
(3) Cotton

(4) Nylon
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) ) 3 i ®
64. ﬁt;::‘ ot £ sy F 2 AAntE &
(1) A R e
(3)ﬁmiﬁ@ﬁﬁﬁmm%m
o5, Pt % @ e T
IR0
freit & TR
o smid et U e
b R s dd ) O
(o) a9 (i) <
@ I (iv) TR
() a b = ‘f
qio0ow 1M
@ a b ¢ ¢
iv iii ii 1
@ a b ¢ ¢
i ii iii v
@l B w8 wf
ii i v il

GG.Wﬁﬁﬁmﬁ‘ﬁlﬁ’mm

wad! 27
(1) pFidt
(2) <<
(3) w=l
(4) &G

Tt § ¥ BE-H o el e A
FETd A 87
(1) =memusT
(2) HHATIHISTH
(3) &hmTEA
(4) "eEmISA

68. ‘gl i Freffian § & Fradh w fre 17

(1)
(2) e

(3) &fi-=a

(4) TEAA



70. Which one of the fol

71. ‘Basket weaving’

69. Population density refers g
(1) the way in which
across the earth’
(2) the number of
unit area of the
(3) the number of
particular areg
(4) the number of
a specific time

People are spreaq
8 surface

people living in a
earth'’s Surface
people living in a

People living during

lowing methods js
minerals lying near
earth?

used to take oyt
the surface of the

(1) Shaft mining

(2) Open-cast mining
(3) Quarrying

(4) Drilling

is an €xample of

which one of the following types of

industry?
(1) Large scale
(2) Cooperative sector
(3) Small scale

(4) Joint sector

72. Which one of the following statements

about monarchy is incorrect?

(1) The monarch does not have to

explain the decisions taken by
him/her.

In a monarchy, people can raise
questions about the decisions
taken by the monarch.

In a monarchy, people cannot
question the decisions taken by the
monarch.

(2)

(3)

(4) The final decision-making power

lies with the monarch.

73. On which one of the following rivers is

Krishna Raja Sagar Dam constructed?
(1) Kaveri

(2) Mahanadi

(3) Godavari

(4) Krishna
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69. SFHE T @ Al R

70.

71.

72.

73.

(1) 4-98 9 &l % %er 1 w=Ed

PREERER R ERECEICEY)

(3) frdt 4 fagm & A 9@ @l R H@E@n
(4) v fafrea srafu & @ @il 6 @@
gl £ war ¥ Free fom afsl w1 aw

frrrert ¥ o, Fretffaa @ A fra fife
e fon e 7

(1) F9 @14

(2) foga @

(3) @

(4) T

Fm ¥ frefafaa v # A D0 s
foreaR v 3emRm RY

(1) F&q ATHR

(2) wewEdt 43

(3) ¥ M=

(4) W &

arel % geld, Frafefaa wua 3 @ -
U Terd 87

(1) e gw fore T fofd w T W@
WA 23X H avasar & Al 2

(2) T # TR g fee g fk w
AN Y9 337 g B

(3) drmE A qrmmE T T o A w
A T TE W ww

(4) 3fm Frofa % A e TR § B
e R)

F TS AR sty Frafafes TRl 3 A fm w

TR T 7

(1) =b

(2) WRwE

(3) MeEh

(4) Fom
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74. The Hindu Succession Amendment

Act, 2005 provides an equal share in
the deceased father’s property to

(1) wife, daughter(s) and sister(s)

(2) daughter(s), son(s) and brother(s)
(3) wife, son(s) and daughter(s)

(4) wife, son(s) and brother(s)

75. Who among the following national

le:aders coined the phrase ‘Unity in
Diversity’ to describe the Indian
Nation-State?

(1) Bal Gangadhar Tilak

(2) Mahatma Gandhi

(3) Sardar Vallabhbhai Patel
(4) Pandit Jawaharlal Nehru

76. Consider the following two statements

A and B about the functions of
Janapad Panchayat and choose the
correct answer :

A. The Janapad Panchayat makes
developmental plans -at district
level.

The Janapad Panchayat helps
Zila Parishad to regulate money
distribution among Gram
Panchayats.

(1) Both A and B are false

(2) A is true and B is false

(3) A is false and B is true

(4) Both A and B are true

B.

77. Consider the following two statements

A and B on the Right to Information
(RTI) Act and choose the correct
answer :

A. Through the RTI Act, a citizen can
get information pertaining to the
working of the departments of the
Central Government only.

To get information under the Right
to Information Act, a citizen has to
first file a petition in any court of
any level.

(1) Both A and B are false

(2) A is true and B is false

(3) A is false and B is true

(4) Both A and B are true

P-II/M

Scanned by CamScanner

38

74.

75.

76.

77.

o5t s s
(1) weh, gh/gfE 7 m/@ ﬁv

(2) /b, T/ o S/
(3) weh, T/ 7 gsﬁ/gﬁﬂj =

() e, g/ T wé/ e

vt w3 ¥ forg P

; E7
e T e enef 2 frd fo?

A g T

(1) e e feer

(2) TeETe M

(3) @R AGHTE T

(4) wfFen S 7

72 GaEd % FE ¥ faw # fefafen @

Fodl A i B W forem Fifer o1 @ IR F

74 e

A S92 YaEa faen T W fawm deEnd
fawife @t 21

B. S92 Y=[Ed, I T=Edl & 6 =9 e
frafm e @ foren oftag 1 FEEE HA
]

(1) A 3fr B 23 Tem &

(2) Agdl 2 3R BT 2

(8) A7 & 3 B wdl &

(4) A @R B i 9 %

o # Afusr afufEm @ fetafag @)

FYH A 3 B W fa=m AR aun o 33 =

Wsﬁﬁm:

A, I H AUFR Afutem F mem ¥ w2
f TRF Faa P R F A
HEYOTeR % Heof & I W N Hea 2

T F1 AR afafam & smwta ge
W A & T Tmies 1 Bt o ¥ frdt
?mﬁmuﬁmarﬁaamwgeﬁ
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(4) A ¥R B 3H g §



78. Who among the fp)

lowing was the

writer of the story, Sultana’s Dream?

78. oAl F @ THE FEE R Afgw T @

(1) Panditg Ramabaij bl ;ﬁf;gm WS
(2) Rokeya Sakhawat Hussain o) 5 TEEd
(3) Mumtaz Al; - T =
(4) Rashsundarj Devi © y 3;:
(4) Taged
79. Who among the followin
book, Gulamgiri? = WG He 79. JATRE WWﬁQWW?

(1) Dr. B. R. Ambedkar
(2) E. V. Ramasamy Periyar
(3) Jyotirao Phule

(1) Elo o Mo AT
(2) do Ao T AR
(3) “afoa g
(4) R ATET TR

T e sgaee % e # adfid R
e F AY R

(1) 3§ 3 e w, form et hrht fsh
¥, IRITEE § SEd T §

(4) Shri Narayan Gury

80. In the context of Indian Jjudiciary,

80.
appellate system means

(1) that one can plead one’s case in the

court without having a degree in
law

. SRR, SRR AR %
(2) separation of power among the (2) ﬁ’n‘fl, S w
legislature, executive and judiciary < ! - 5
(3) the decisions made by the higher (3) = i ’ i
courts are binding on the lower LIS RER
courts (4) Tl =afss A o o o @ T Feeh
(4)

one can move to a higher court if
one feels that the judgement of the
lower court is not just

aRTEd TN R T Feen @@ T R, Q@

98 308 SN I Ed H I H Ahal
3

81. The executive organ of the State refers

to 81. GUHR = HEHIe 37§ AHE 3

(1) every citizen of the country (1) 0 = EREARicH T’?‘%WW ERASZ
exercising universal adult franchise HATEETL 1 I <HLel

(2) the elected representatives (2) Taffa wfafiy

(3) a group of people responsible for (3) |t W R, S $\'{-ﬁ H AR A AR
implementing laws and running the T I % T sewert @
government (@) o s X%

(4) the judges of the Supreme Court R
and High Courts

82, Hfum #1 g 22 T = @
82. Article 22 of the Constitution ensures
1) Righ to be ill-treated during (1) et & dae 1 fewwa 3 gaiaa‘( q
(1) Right not to be = 5 o

arrest or while in custody '
(2) HuTfeR IR w1 AR
(3) v % fereg, @AfbreRm

(4) Tren =1 srfueen

(2) Right to Constitutional Remedies
(3) Right against Exploitation
(4) Right to Education
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83. Who among the following is the leader
of the ruling party in Lok Sabha?

(1) The Vice President
(2) The President

(3) The Prime Minister
(4) The Speaker

84. Consider the statements A, Band C on
the nature of Social Science at the

upper primary stage :

A. It is a study of people in their
environment.

It is a study of relations among
people and their interdependence.
It is a study of the past and its
relation to the present.

Select the most appropriate choice
from the above statements.

(1) A, Band C

B.

C.

(2) A and B
(3) B and C
(4) A and C
85. Social and Political Life textbooks at
the wupper primary level cover
content related to which of the

following subjects?
(1) International Relations

(2) Psychology
(3) Economics

(4) Philosophy

86. Why would you ask questions on
historical imagination? Choose the

most appropriate option from the
following.
(1) It is fun-way to remember dates
and events.
(2) It shows how historians fill gaps in
history with their imagination.
(3) It encourages comparison of the
present with the past.

g3. < @ # wa <@ F A TH

Bra1 87

(1) 39-TgA
(2) Tgafd
(3) wuTEE

(4) FAeAd

T e % T8 W
84, 3= WufHe WL W C
A,Baﬁicmqtﬁwa‘?ﬁu:

A mea;ﬁaﬁwaw%\

AT R 3
C'ﬁm@(aﬁm%muwﬁm

HeE B
Waﬁaﬁﬁamsﬁmmmw

Hfwu)

(1) A, B3R C
(2) A3 B
(3) B3R C
(4) A#RC

85.mmmwmwﬁa@mmfﬁaq
%W—Wﬁﬁﬂ%ﬁaﬁuﬁﬁ%m

wafia favgasg afffea =7

(1) SRR, HTH

(2) TATE

(3) s

(4) ST

86. 3 UfdEee Hedm W TH  FW ?

frferiaa # @ v 3fua fasen =1 i

(1) =8 fafy 3R w=eetl =) O @ =1 =%
EIRS

(2) T& i ¢ B shoeresn sfem ¥ o
FTT & T FY AR B G H B

(3) ¥ TOHH 1 I ® WE gE FQ A
eaTied R R |

(4) TR 9 B vEEE A e 6 dwem

(4) It evaluates a student’s ability to
identify sources.
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87. Why would you use
Science teaching?
appropriate
options.

(1) To ensure
completed

Narratives inp Social
n Choose the most
ason from the given

that syllabus g

88. gg"gg)‘il?f to the Nationag] Focus Group
» the teachi : . -

losing Popularity l';gs of Social Science is

(1) it presents sgey

- eral sj i
conflict in hum tuations  of

' an valuyesg
(2) it lays too much e
scientific temperam

(3) it is considered ag
subject

mphasis upon
ent

a non-utilitarian

(4) it encourages man

study Y subjects of

89. Which one of the given choices is an

incorrect description of school-based
assessment?

(1) It covers only co-curricular aspects.
(2) It covers scholastic aspects.

(3) It covers non-scholastic aspects.

‘

(4) It covers all aspects.

90. Consider the following two statements
A and B on a teacher’s role in
transacting a Social Science topic and
select the correct answer :

A. The teacher must ensure the
dignity of all students and conduct
discussions with sensitivity.

B. The teacher must focus upon facts
with the boys and the feelings of
the girls.

(1) Neither A nor B

(2) Only A

(3) Only B
(4) Both A and B
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(1) TresisEn i o 1 gRfTaa @

(2) el = ddewRie w0 W% fed 3
3fa a1l &1 9o W TH

(3) & I WALTH TG T S b

'(4) HauEUTe F GSiE aRAEEdIl WY
e gh

88. T¥M MuR TR (2006) % ITIER, HHIE

(1) 8 geE Teat # ety 6 w3 ke
TEqA T B

(2) e e S g W S o R

(3) @& srgnh fowm % w9 f 9

(4) 7% =3 faudi & svmad w HeAted Fe 8

89. frafafaa # ¥ wm-w fasea foemcm -
ATHAA 1 AIAGH G0 87
(1) T Fad gETH vE] A wilfad e R
(2) =% e et = wffmfea w2
(3)g#e M-St wafi w1 wifea =t '
(4) w2 mst uat Y wiefad w5 2l

90. Tk fude o1 wTieeh o= & s =t warfea
e W FEfalad A $it B el @
ferem TS qen wel I 1 =4 i

A. Tegw wf RaliE & wfon = s
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PART—IV

Languagﬁ"‘I
ENGLISH

IMPORTANT : Candidates should att

empt questions
91-120), if they have opted ENGLISH as Lan

Directions : Answer the following questions
(Q. Nos. 91 to 105) by selecting the
correct/most appropriate options.

91. Which one of the followin‘g is not true
about the status of English language
across the world?

(1) English as a heritage language
(2) English as a native language
(3) English as a foreign language

(4) English as a second language

92. The study of words and
meanings is known as

their

(1) linguistics
(2) semantics
(3) phonetics
(4) syntax
93. A good language textbook should
include

(1) extracts from
American literature

British  and

(2) more grammar exercises
(3) interesting stories

(4) attractive fonts, illustrations and
learner-friendly texts

Scanned by CamScanner
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o Pa.rt"‘w (Q. Nos.
fro

guage——l only-

s on
| approach 12¥$ stres
ructurd

94. St
(1) improving fluency
C
(2) developing accuracy
) developing linguistic competence
3

(4) election and gradation  of
S

materials

ns
95. Learning to read mea

(1) reading aloud

(2) decoding letters of alphabet into

sounds
(3) decoding the structure of a
language

(4) decoding the meaning

96. The National Curriculum Framework,
2005 ..advocates that a language
leggner 1S a

() user/of grammatical rules

(2) constructor of
language

knowledge/

(3) receiver of language

(4) producer of language

97. Contrastive pairing is
teaching-learning of

used for
(1) writing

(2) speaking

(3) pronunciation

(4) reading



TS

8. Functional
° grammar refers to 102. Extensive reading is

(1) learning pr i .
8 grammar in isolation (1) reading for information

(2) learning T .
ammar .
context & m a given (2) reading the text for pleasure

(3) reading to know the meaning of

grammar by knowin ;
alities of language g the every word {

(3) learning
technic

(4) learning gr
am .
rules of lfn@ar;l:r through  the critique

‘ ’is an activity f 103. Pre-reading activity is meant for
99. Role play 1 i i 1 3
(1) teach'mg the grammatical items

1 e e

Sl given in the text

(2) speaking and listening (2) connecting previous knowledge
and taking the learner into the

(3) assessment ot

# istening (3) connecting the whole class with

one another

(4) giving information about the writer

100. ‘Brainstorming’ technique is useful for
of the text

(1) improving students’ spontaneous
sensitivity

104. While teaching a prose text, which one
of the following activities a teacher

(2) developing learners’ vocabulary
must undertake?

(3) overcoming the problems _of
spelling (1) Paraphrasing the text

(4) helping students in forming (2) Transcription
new sentences
(3) Creating a sub-text

101. Lata, an English language teacher of (4) Consulting a dictionary

Class VII, divides the class into pairs
to read a sequence of pictures and
then describe it to each other. Whatis | 105. Which one of the following is mnot

this activity pedagogically known as? a language component?
(1) Assignment ' (1) Sound system

(2) Group work (2) Manuscript

(3) Teacher-facilitated reading (3) Grammar

(4) Peer, interaction (4) Speech

P-II/M 43 | PT.O.
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Directions : Read the passage given
below and answer the questions that
follow (Q. Nos. 106 to 114) by selecting
the correct/most appropriate options.

When the sun had descended on the other
side of the narrow strip of land, and a day of
sunshine was followed by a night without
twilight, the new lighthouse keeper was in
his place evidently, for the lighthouse was
casting its bright rays on the water as usual.
The night was perfectly calm, silent, genuinely
tropical, filled with a transparent haze,
forming around the moon a great coloured
rainbow with soft, unbroken edges; the sea

was moving only because the tide raised it.

The keeper on the balcony seemed from
below like a small black point. He tried to
collect his thoughts and take in his new
position; but his mind was under.teo much
pressure to move with regularity: He felt
somewhat as a hunted beast feels when at
last it has found refuge from pursuit on some
inaccessible rock or in a cave. Now on that
rock he can simply laugh at his previous
wanderings, his misfortunes and failures.
He was in truth like a ship whose masts,
ropes and sails had been broken and rent by
a tempest, and might have been cast to the
bottom of the sea, a ship on which the

tempest had hurled waves and spat foam,

The pictures of that storm passed quickly

through his mind as he gompared it vaih

the calm future now beginning. Part of his

wonderful adventures he had related to

Mr. Shyam when he was interviewed for the
r.

job of the keeperT; he had not mentioned,

however, thousands of other incidents. It had

been his misfortune that as often as he

pitched his tent and fixed his fireplace to

settle down permanently, some wind tore out

the stakes of his tent, whirled away the fire,

and bore him on towards destruction.

Looking now from the balcony of the tower
at the illuminated waves, he remembered
everything through which he had passed.
He had campaigned in the four parts of the
world, and in wandering had tried almost

every occupation.

106. The water around the lighthouse got
lit up because

(1) the sun had set

(2) the lighthouse was casting its
bright rays

(3) the night was in the twilight zone

but which still wound its way to the harbour.

P-1I/M
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(4) the keeper had started his job
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108.

109.

110.

(1) Rays from the lighthouse
(2) Tropical climate

(3) Rising sea tide

(4) Transparent haze

The lighthous
from pressur

(1)

e keeper’s mind was free
e, because

there w
the top €re only 400 steps to
(2) he no longer felt 1i

t
beast 86t felt like a hunted

(3) his job was quite easy

(4) there was
movements

regularity in his

The ship of his life was hit by a storm

(1)

and it went down to the bottom of
the sea

(2) yetitreached the harbour safely

(3) and it reached the port in a
damaged condition

(4) yet it kept on sailing on the sea

“He was in truth like a ship.”

The figure of speech used in the above
sentence is

(1) a hyperbole
(2) a simile
(3) a metaphor

(4) personification

P-II/Mm
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111.

112.

113.

114.

«

.. a day of sunshine was followed by
a night ... .”

When the voice in the above sentence
is changed, it becomes

(1) A night followed the sunny day.
(2) The night follows the sunny day.

(3) A night is followed by a day of

sunshine.

(4) A night followed a day of

sunshine.
The antonym of ‘narrow’ is
(1) wide
(2) broad
(3) deep

(4) steep

4

“The night was perfectly calm.’
Therword |‘perfectly’ is a/an

(1) adverb
(2) noun
(3) verb

(4) adjective

The word ‘illuminated’ means
(1) calm

(2) lighted up
(3) decorated
(4) tossed up

[ P.T.O.



s standing in the qanlovely

117. The poet i

Directions : Read the extract given ;
below and answer the questions that street
i;:llow (Q. Nos. 115 to 120) by selecting 1) to et rid of his fear
e correct/most appropriate options. (
(2) to overcome his loneliness
Dark house, by which once more I stand
to meet his friend

Here in the long unlovely street, 3)

Doors, where my heart was used to beat drizzling rain
(4)

i the
So quickly, waiting for a hand, to expenence
A hand that can be clasp’d no more—
Behold me, for 1 cannot sleep,

And like a guilty thing I creep (7)

¢ 1ife’ signifies

118. The phras€ ‘noise ©

daily routineé of life

At earliest morning to the door. (1)

He is not here; but far away

The noise of life begins again, (2) the sound of drizzling rain

And ghastly thro’ the drizzling rain 2 :

On the bald street breaks the blank day. (12) (3) the poet’s friend while talidng
the poet

(4) nature’s sympathy for

115. The speaker is standing in front of

a/an
e used in line 7 is

(1) graveyard 119. The poetic devic

(2) open field (1) a hyperbole
(3) dark road (2) onomatopoeia
(3).a metaphor

(4) empty house
(4) a simile

116. The poet is waiting for someone to

hold his
120. In line 12, the poetic device used is
(1) body
(1) a metaphor
(2) hand () alliteration
(3) arm (3) an irony
(4) heart (4) a simile

46
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T e ~| i ) - ¥ ! e, o
PART—V
Language—II
ENGLISH
I—
. — . Nos.
IMPORTANT : Candidates should attempt questions from Part—V (Q os
121-150), if they have opted ENGLISH as Language—II only.
. dee of subject
Directions : Answer the following questions (3) using e he co o
for guessing the ntent
(Q. Nos. 121 to 135) by selecting the matter e
correct/most appropriate options. and vocabuiary
4) paraphrasing
121. Afspeech community refers to a group # P
of people who
. also known as
(1) share homogeneity with reference 125. Diphthongs are
to their value system (1) vowels with weak sounds
2 .qe
(2) are n?l.lltllmgu B (2) glide vowels
(3) are bilingual Is
i-vowe
(4) share community membership (3) semi-vOW
and linguistic communication (4) pure vowels
122, ivati ’ '
Activating learners’ schema means 126. Yasmin, an English language teacher,
(1) dealing with learners having ’ gave - her students group work to
learning difficulties explore an area apd asked them tg
(2) showing a picture and asking find important notices and names of
learners to write a story places and streets to document them
(3) making a link pbetween the to write a report.
topic and learners’ background This activity is known as
knov.vledge and experience (1) |peer work
(4) making a link between the '
textbook and its structural (2) project work
patterns and grammatical items (3) assignment
123. As per Noam Chomsky’s theory, the (4) activity-based learning
role of Language Acquisition Device
(LAD) &= to 127. Mrudusmita, while teaching a 1
) . Mrudusmita, while teaching a lesson
(1) learn languages in formal sehuals on atoms from the science textbook,
(2) imitate the language of adults gave her students activities based
(3) generate grammar rules on the theme. The activities included
(4) memorize grammar iles vocabulary and debate on the uses of
atomic energy. What is this strategy
124. Prediction in terms of reading refers to known, as¥
(1) previewing (1) Language of science
(2) using prior knowledge of the (2) Language through science
subject and the ideas in the )
text as clues to the meanings of (3) Language across curriculum
unknown words (4) Language in other subjects

P-1I/M
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. While listening to a i i
128 sometimes weglistensxt): et::;lsilg 1113 it ot
sound, a syllable and a word r:xg o
sentence and then ga para’r h
decode the_meaning of the %:oaph o
speec_h- This mental proces s
described as S can be

(1)

Interactive model

(2) Top-down approach

(3) Bottom-up approach

(4) Middle-path approach

129. Infree writing, a learner is engaged in

(1) ;Lsstinrg}l:;togzc;hmgs she/he has

(2) writir'lg with specific relation to
spelling and grammar

(3) Writin-g sentences without
applying her/his mind

(4) expressing ideas without giving

much attention to spelling and
grammar

Susheela discussed a short story.an
the classroom and asked her students
to write an article for a newspaper on
the theme of the story. What is this
writing known as?

(1)
(2)
(3)
(4)

130.

Writing for a newspaper
Extrapolative writing
Long answer

Short essay

A question tag is also known as a

(1)
(2)
(3)
(4)

P-Il/M

131.
critical question
head question
tail question

descriptive question

Scanned by CamScanner

132. Mind-mapping helps the students to

(1) learn passively each of the
linguistic items

(2) memorize the grammar rules

(38) use literary devices more effectively
in their writing

(4) brainstorm, explore any idea and
expand it

structures can be

133. G ammatical
’ ontrolled manner by

practised inac

(1) explaining the use of particular
structures

grammar exercises

(2) gap-filling

(3)

correcting wrong sentences

written by the learners

doing composition exercises

(4)

134. Interactive listening means listening

carefully to what is  said - and
responding

(1)

(2)  curiouslyto what is said

(3)

carefully for word stress and
intonation

to judge the speaker’s mood and
tone

(4)

135. Continuous and Comprehensive
Evaluation of learner is

(1)

continuous tests and assign-
ments

(2)
(3)

conducting continuous tests

periodi¢ assessment of learning

53

(4) periodic assessment of teaching

[ P.T.O.
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. ¢ Read the passage given |I log these attributes, too, along with the

follow and answer the questions that | {exture.

o oW (Q. Nos. 136 to 143) by selecting the
frect/most appropriate options.

Dir €ctions

ised when th
136. People get surprise .
Peoples’ faces light up when 1 say I taste narrator tells them that he

chocolate for 4 living, but it is not always

: (1) is a chocolate taster
delicious, |

also have to taste defective
chocolate, which might have a bitter or burnt
flavour. rm usually in a small room, not (3) has to eat bitter chocolate
allowed to talk, ang parked in front of
a computer to log information. Sometimes

the room has red lighting to disguise the  his iob
@ppearance of the chocolate, so I can evaluate | 137. There is no glamour in 1is Job &s

(2) has to work under red light

(4) has to work in a small room

it only by taste, not appearance. I can sample (1) he has to blow out short puffs

:ier:ar:}}: ::1 ::Z chc?colates.per day, so as to (2) he keeps on spitting out chocolate
active, I spit the sweets back

out. That’s another not-so-glamorous part of (3) his place of work is narrow

the job. Between samples, [ wait 30 seconds

to let my senses rest, and I chew half an

unsalted cracker biscuit and drink plain

. 3 tor cannot eat and enjoy the
warm water, as carbonated water and ice 138 I;lgcr;?g: oy

(4) he never ate burnt chocolate

numb one’s senses.
(1), as it has not been stored properly
First [ smell th i i

. me - € chocolate and log its aroma. - g Sl
I also listen : if chocolate doesn’t sound crisp
when broken, it may be a sign it’s old or was (3) to keep his palate active
improperly stored. Then I place one inch bit
in my mouth and leave it there for a
few seconds, I press it against my palate

and let it melt, recording the four basic

(4) as it has a burnt flavour

139. The process of chocolate tasting runs
in the order of and again

" tastes—sweet, sour, bitter and salty. Then I smelling.
blow out short puffs of air through my nose. (1) breaking, smelling, listening,
Certain sense receptors in the back of our melting

head are stimulated by oxygen. They allow (2) breaking, listening, smelling,
us to smell food when we chew. Exhaling melting

i out aromas like berry, . : . .
sharply can bring _ 1y (3) smelling, breaking, listening,
mushroom, tea, citrus, beeswax, toast, melting
cinnamon, and savoury spices that are i ) .
(4) melting, listening, breaking,

smelling

sometimes too subtle for the nose to catch.

P-II/M 54
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140. “Leave it there ”

When the abgve .

) . Ntence jg
into passive voice ¢ s
ECTPlvVe voice

, it becomeg

(1) Let it was left there

(2) It is left there.
(3) It'was left there,

(4) Let it be left there,

141. “Peoples’ faces light up ?
The word light’ here ig a/an

(1) adverb
(2) noun
(3) verb

(4) adjective

142. The word ‘parked’ (Para 1) means
(1) ran
(2) managed
(3) operated

(4) seated

143, The word ‘log’ (Para 2) means

(1) taste
(2) record
(3) cut

(4) enjoy

- Py/m
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2

Directions : Read the passage given
below and answer the question§ that
follow (Q. Nos. 144 to 150) by selecting the
correct/most appropriate options.

The Kittur Fort

One can see today only the dilapidated walls
and ruins of the great fort which was once
known for its strength. The most important
landmark as one goes towards the fort is the
‘Bahadurgad’. Situated to the southwest of
the fort and outside of it, on a natural hillock,
the highest in the plain, the ‘Bahadurgad’,
which was the watchtower, provides a most
panoramic and commanding view of the
sparsely wooded surrounding region of green
grassland, fading, as if gradually, into soft
contoured hills in the west and the horizons
on the other sides. To the north of the tower
is ‘Ranagattikere’ where Rani Chennamma
fought her last stubborn fight against the
British, with almost savage determination.

The actual fort, circular in plan, consisted
of double walls, separated by moats on the
outer sides, withisemi-circular bastions on
the exterior of therouter wall. It had originally
the'main gateway on the east, approached by
the causeway across the outer moat known

as ane honda which was used for bathing the
elephants.

The entrances through the walls are
deliberately not aligned, evidently in the
interests of security. After passing by the
winding path through the walls, one is led to
the front side of the imposing main entrance

of the palace located near the northern arc of
the inner fort wall.

To the south of the palace, inside the fort, are
the ruins of horse-stables and foundations of
residential buildings, probably meant for the

5D [ P.T.O.



important officials of the palace. To the
southwest is the heavily built watchtower
relieved by a series of parallel buttresses at
regular intervals.

144. Which one of the following statements
is true ?

(1) Rani Chennamma ruled Kittur
from here.

(2) Bahadurgad is situated inside the
Kittur Fort.

(3) From it, one can enjoy a view of
the hills in the east.

(4) It was used as a watchtower.

145. Rani Chennamma fought against the
British

(1) in Bahadurgad Fort
(2) in the wooded grasslands

(3) in the contoured hills

(4) at Ranagattikere

146. From Bahadurgad, one could easily
get

(1) to see a natural hillock

(2) a commanding view of a dense
forest

(3) to see tall rugged hills in the west

(4) a look at green grasslands

P-11/M 56
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147.

148.

149.

150.

Unaligned gates in the walls

e walls look imposing

(1) make th
(2) make the entry easy
(3) make the fort secure

4) make the fort insecuré

(

»
« . as one goes towards ... -

‘one’ in the above clause is a/an
(1) adjective
(2) noun

(3) verb

(4) pronoun
«  and commanding view of ... Rt
ittt

‘commanding’ in the above phrase is
a/an

(1) adverb
(2) noun
(3) verb

(4) adjective

The word landmark’ means the same
as

(1) plain
(2) marker
(3) adventure

(4) hill
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